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CERTIFICATE IN ACCOUNTING TECHNICIANS
FOUNDATION COURSE (ENTRY LEVEL)—PART I EXAMINATION

December 2009 CAT-2(ACT)

Accounting

Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate full marks.

SecTion |

Answer Question No. | which is compulsory and any two questions from the rest of Section 1.

(2) In each of the following, one is correct. Indicate the correct answer.

(i) Till the discounted bill is paid by the acceptor it remains:
A. A contingent liability for the Acceptor.
B. A contingent liability for the Drawer.
C. A contingent liability for the Bank.
D. A liability for the Drawer.

(ii) Net worth is:
A. Total Assets Less Qutside Liabilities.

B. Total liabilities plus Owners’ equity.
C. Current Assets less Current liabilities.
D. Total Accumulated profit less Liabilities.

(iii) When cash is received for services rendered in the past:
A. Owners’ equity increases.
B. Current assets increase.
C. Profit increases.
D. None of the above.

(iv) When an endorsed bill is dishonored, for the endorsee, it becomes the liability:
A. of the drawee.
B. of the drawer.
C. of the payee.
D. of the endorser.

(v) Life membership fees received by a non-profit organisation is treated as:
A. Revenue receipt.
B.Capital receipt.
" C. Deferred revenue receipt.
D. Both revenue & capital receipt.
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CAT-2(ACT) (2)

(vi) Increase in the value of opening stock results in which of the following:
A. Increase in gross profit and net profit.
Reduction in gross profit and increase in net profit.

B
C. No effect on net profit.
D

None of the above.
(vii) ————— method of stock valuation considers the purchase price of stock which entered the
godown last.
A. FIFO.

B. LIFO.
C. Weighted average.
D. All the above method.

(viii) The Trial Balance checks:

A. Arithmetical Mistake.

B. Honesty of the book keeper.
C. Valuation of Closing Stock.
D

Nature of the business.

(ix) Expenses incurred in the formation of a company are shown in:
A. Debit side of P&L Afc.
B. As an asset in Balance Sheet.
C. As a liability in Balance Sheet.
D. Credit side of P&L Alc.

(b) Fill in the blanks: 1%5
(i) The withdrawal of money from the business by the owner for his personal use is called

(i) Effects of an event must be recognised in the same accounting period in which they are entered as
per ————— concept.

(i) If the current year’s depreciation has to be shown in the trial balance, it would be shown in
the ——— side of the trial balance.

(iv) The Depreciation mentioned under 1 (b) (iii) above is not —————— from the corresponding asset in
the balance sheet.

(v) On return of goods to the seller by the buyer, the seller issues ——————— note to the buyer.



(3) CAT-2(ACT)
(c) State with reasons whether the following statements are true or false. 2x8

(i) If the profit sharing ratio among the co-venturers is not given, the profit of the joint venture is distributed
among the co-venturers in capital ratio.

(ii) Balances of personal accounts are carried forward to the next year.
(1) Salary paid to Harish will be debited to his personal account.
(iv) A drawer himself may be the payee of a bills of exchange/cheque.
(v) Accumulated depreciation can be located in the debit side of the trial balance.
(vi) The accumulated in 1(c)(v) above is not deducted from the corresponding asset in the Balance Sheet.
(vii) Income received in advance is an asset.
(viii) Petty Cash is an expense.
2. (a) Based on the following information prepare a Bank Reconciliation Statement as on 31st December, 2008 and
find the balance as per pass book: 6+1
(i) Bank overdraft as per cash book on 31.12.2008 Rs. 6,340,
(ii) Interest on overdraft for 6 months ending 31.12.2008 Rs. 160 is entered in pass book;
(iii) Bank charges amounted to Rs. 30 for the above period were entered in the pass book;
(iv) Cheques issued but not presented upto 31.12.2008 amounted to Rs. 1168;
(v) Cheques sent for collection to the bank but not collected upto 31.12.2008 amounted to Rs. 2,170;
(vi) Interest on investments collected by the bank and entered in the pass book Rs. 1200.
(b) Explain the following three statements in not more than 10 words each: 1%3
(i) P&L Alc is a Period Statement.
(ii) Balance Sheet is a Point of Time Statement.

(iii) Statement of Affairs is a Point of Time Statement.

3. (a) Shyam consigned 2,00,000 units @ Rs. 5/- each to Mr. Ram, and paid Freight and Insurance amounting to

Rs. 1,00,000. Ram spent further the following amounts: 4
Rs.
(i) Insurance 5.000
(i) Godown Rent 4,000
(iii) Clearing 6,000

2,000 units were damaged during transit due to heavy rains.
Ram sold 1,00,000 units @ Rs. 10/-per unit.

Ram realised salvage value of damaged units Rs. 2,000/-
Ram is to get a commission @ 5% on sales.

Determine the abnormal loss.
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CAT-2(ACT) (4)

(b)

(c)

(d)

(b)

(c)

From the following information determine the cash and bank balance, as on 31.11.2009: 2
| Rs.
Written Down value of Land & Building 32,000
Accumulated depreciaation on Land & Building 2,000
Insurance Premium paid in advance 900
Creditors 13,000
Debtors 5,000
Furniture 12,000
Capital 55,000
Cash & Bank Balance ?

From the following information determine amounts to be transferred to the Profit & Loss Account: 2
Rs.
(i) Sundry Debtors as on 31.03.2009 50,000
(ii) Provisions for debt as on 01.04.2008 4,000
(iii) Bad debts written off during the year 2008-09 1,000
(iv) Recovery of bad debts earlier written off 1,000

(v) Provision for bad and doubtful debt is maintained @ 5%

[R]

Discuss the effects of not providing depreciation. Only two points need be given.

Mohan sold goods on 1st September, 2009 for Rs. 2,00,000/- to Sohan. Sohan immediately accepted a 3 months
bill. On the due date Sohan requested for the renewal of the bill for a further period of two months.
Mohan agrees to pay interest @ 9% per annum to be included in the new bill.
Determine the amount of the new bill. 1

Pass journal entries in the current year for the rectification of following errors which were located after the final

accounts of previous had been prepared. These errors relate to earlier year. Rate of depreciation on fixed assets
is 10%: 4

(i) Purchase of a second hand scooter was debited to the conveyance account amounting to Rs. 5000/-
(ii) Cash received from Mr. Z was wrongly entered in the account of Y, amount being Rs. 4,000/~
(ili) Goods purchased from A was recorded in the sales book amounting to Rs. 15,000/-

(iv) A cheque for Rs. 500/- issued to the Supplier (Creditor) wrongly debited to purchases

The cost of the machinery in use with a firm as on 1st April, 2008 was Rs. 2,50,000 against which depreciation
provision stood at Rs. 1,05,000 on that date, the firm provides depreciation at 10% p.a. on SLM basis.

On 01.10.2008 two machines costing Rs. 15,000 and 12,000 each, both purchased on Ist Oct., 2005 had to be
discarded and had to be replaced by two machines costing Rs. 20,000 & 15,000 each on the same date.
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On of the discarded machine realised Rs. 8,000/- and the other is expected to realised Rs. 3,000/-,
Prepare the following Accounts:

(1) Machine A/c
(ii) Machine Disposal A/c and
(ii1) Provision for Depreciation A/c for the year ended 31st March, 2009. 14242

SecTion 1T

Answer Question No. 5 which is compulsory and any two questions from the rest in the Section II.

5. (a) In each of the following, one of the alternatives is Correct. Indicate the correct one. 1x10

(i) Cost of normal waste of material under contract costing is debited to:
A. Contract Alc
B. Trading A/c

C. Material Alc
D. P&L Alc
(i1) Variable Costs are fixed:
A. For a period
B. Per unit

C. Depends upon the entity
D. For a particular process of production

(iii) When re-ordering quantity is 300 units, minimum usages is 20 units, minimum lead time is § days, maximum
stock 400 units, re-ordering level will be:

A. 300 units
B. 200 units
C. 400 units
D. 100 units

(iv) When over-absorption of overheads is Rs. 20,000 and the actual machine hour were 50,000. The overhead
rate per machine hour is Rs. 5/-. Actual overheads would be:

A. Rs. 5,00,000
B. Rs. 2,30,000
C. Rs. 2,50,000

D. Rs. 2,70,000

(v) When Break-even sales is 12,000 units, selling price per unit Rs. 10/-, Maximum sales is 20,000 units.
The margin of safety is-

A. Rs. 70,000
B. Rs. 80,000
C. Rs. 60,000
D. Rs. 50,000
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CAT-2(ACT) (6)

(vi) A company with fixed costs amounting to Rs. 50,000 seeks to earn a profit @ 20% of selling price. The
selling price is Rs. 20/- per unit and the variable costs are Rs. 15/- per unit. The units sold will be:

A. 50,000
B. 60,000
C. 25,000

D. None of the above

(vii) The concept of EOQ has been losing its shade since the introduction of:
A. Perpetual Inventory System
B. JIT Inventory System

C. FIFO
D. LIFO
(viii) In an increasing price trend, value of closing stock of inventory would be higher under:
A. FIFO
B. LIFO
C. Actual Cost

D. Average Cost

(ix) Costing method in which fixed overheads are included in the cost of inventory is
A. Variable costing
B. Direct Costing
C. Absorption Costing
D. Process Costing

(x) If sales is Rs. 2,70,000, variable costs are 60%, Fixed Costs are Rs. 1,00.000, BEP would be:

A. Rs. 1,00,000
B. Rs. 2,00,000
C. Rs. 2,20,000
D. Rs. 2,50,000
(b) (i) Determine the machine hour rate from the following information: 2
Days available during the year 2008-09 306 days
Machine hours available 8 hours per day
Expenses
Rs.
Power 2,79,600
Lighting 20,000
Lubrication oil 40,000
Repairs 1,00,000
Depreciation 50,000

Salary of Directors 1,00,000
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(it) (A) Standard hours for a job 1000 hours
(B) Incentive is allowed on percentage of time saved compared to standard hours.
(C) Rate of pay per hour Rs. 2/-
(D) Incentive scheme are as follows
% of time saved Bonus
Saving upto 10% 10% of time saved
Saving between 11% and 20% 15% of time saved
Saving between 21% and 40% 20% of time saved
Determine the earnings of Ram who completed the job in 900 hours. 2
(ii1) Fixed costs are always fixed. Do you agree? 2
(iv) Discuss in brief the accounting treatment of the material loss arising out of avoidable causes. 2
(v) How the cost of unavoidable labour turnover is treated in cost accounts? 2
(c) State with reasons whether the following statements are true or false. 2x5

(i) The cost of abnormal waste of materials in a contract is transferred to the costing P&L A/c.
(i1) The break even point remains the same even if the fixed costs are reduced.
(iii) In Contract Costing the work-in-progress does not include uncertified work.
(iv) Fixed overheads per unit will reduce as production rises.

(v) There is no difference between marginal cost and differential cost.

6. (a) Ramnath Ltd. manufactures and sells a typical brand of tiffin boxes under its on brand name. The installed
capacity of the plant is 1,20,000 units per year distributable evenly over each month of calender year. The cost
accountant of the company has informed the following cost structure of the product. which is as follows:

Raw Material Rs. 20 per unit.

Direct labour Rs. 12 per unit.

Direct expenses Rs. 2 per unit.
Variable overheads Rs. 16 per unit.
Fixed overheads Rs. 3,00,000 per year.

Semi-variable overheads are as follows:
(i) Rs. 7,500 per month upto 50% capacity &

(11) Additional Rs. 2,500 per month for every additional 25% capacity utilisation or part thereof, the plant
was operating at 50% capacity during the first seven months of the calendar year 2009, at 100% capacity
in the remaining months of the year.

The selling price for the period from 1st Jan, 2009 to 31st July 2009 was fixed at Rs. 69 per unit. The firm has
been monitoring the profitability and revising the selling price to meet its annual profit target of Rs. 8,00,000.
You are required to suggest the selling price per unit for the period from 1st August 2009 to
31st December 2009.

Prepare cost sheet clearly showing the total and per unit cost and also profit for the period.
(A) from Ist Jan. to 31st July 2009.
(B) from 1st Aug. to 31st Dec. 2009. 343

(b) Discuss the uses of Break Even Analysis. How P/V Ratio can be improved? 242
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7.

8.

(8)

concerning the contract during the year 2009:

Particulars

Materials Purchased
Labour engaged on site
Plant installed at site at cost
Direct expenditure

Other charges

Materials sent to site
Materials returned to stores
Work certified

Value of plant as on 31st Dec.. 2009

Cost of work not yet certified
Material at site 31st Dec., 2009
Wages accrued 31st Dec., 2009

Direct expenditure accrued 31st Dec., 2009

Cash received from contractee

(i) the total profit and

(ii) profit to be carried over to Profit and Loss A/c.

(b) What is Bin Card? Give its specimen.

(b) From the following information, Calculate
(i) the overhead absorption rate based on direct labour hours
(ii) the overhead absorption rate based on machine hours

(iii) under absorption of overheads and

(iv) over absorption of overheads

Direct Material Rs.
Direct Labour Rs.
Production overheads Rs.
Direct Labour Hours

Machine Hours

(i) Break Even Sales

Budgeted
1,10,000
2,20,000
2,20,000
50,000
55,000

(ii) Amount of Profit on Sales of Rs. 9,00,000

(iii) Sales for a profit of Rs. 50,000
(iv) Total Variable Costs

2;

1
Prepare contract account in the books of Rama & Co. for the year ending 31st Dec., 2009 and show

Actual
1,20,000
2,40,000
2,10,000

60,000

60,000

Rs.
95.000
75,000
25,000

3,000
5,000
90,000
600
00,000
15,000
5,000
1,900
2,500
250
90,000

(c) For ABC Ltd., if the margin of safety is Rs. 2,40,000 (40% of sales) and P/V ratio is 30%. Calculate:

(a) Rama & Co. undertook a contract for Rs. 2,80,000 for constructing a building. The following is the information

642
1+1

(a) Closing stock lying on the last day of accounting year is valued at market price. Whether valuation is acceptable.

2

1x4

1x4
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a7 1
T HEl T e § e 36 wve d O e 2 W w1 2

. (@ a9 e wadi s 2 e o &2

(i) ST T YA T4 T & Wit g e | 9 e 9 a7 9
A. i H G e wa
B. orE® & GAIfTE g @l &
C. o =1 Faifirer i & &
D. <IE® & e &l s

(i) Y& JT (Net Worth) Bl 2:
A. Tl 9l (-) 9/ <
B. %1 qfad (+) ey oan
C. =] gwfaai (-) =% Jifae
D. %o EHf=d v (-) Tfae

(iii) & 9o F Wew Ha % aaey TR W et § A
A. EfYE 9o aSedt &
B. Ie] G sedt 3
C. oY wgdr e
D. IR H Y T

(iv) W& T Bifehd faet smigd B § @ ysifed & g wiy swerd) g &
A, ST
B. ©w@®
C. 3=/
D. YgisTHdl
(v) TR & WIS § SofaT Hewr Yo ®1 =9 o §
A. 3 A1
qait st
IfiT ST Wit
GSft & ST iR S

OCNnw
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(vi) S A % e @i % s W e ad § Frefetea §F § fee o ged €

A TE @ TFa v | gfg
el oy | F e ge e 1 gfg

0w

wHel 9 Y& o9 W HHT
IS A TE

©

(vi)) —— TfT ¥ sraTa Al B w9 ged S 16 3 T we i w3 wfiufed g @ e g d S
for Tiem & wg ® s €

A. FIFO
LIFO

uifea wres
I gt

O 0w

(viil) TET9E | W= Bl

TEIH i TORTT GETW H
FH-HIH F SAFGH
I @i % qedieA &
SR i Wi Hi

oo ®»

(ix) AT 3 g & =99 foer - ©:
Y B E@ & e um §
Tozs & wfedi 9
feres ¥ <ifawt &

1Y BT W ¥ shiee v

o N w »

(b) T sl & 9T 1%5
(i) SHTHE ¥ T g S ¥ e st ger & ferd freel T v S ———— e €

(i) Tl Thfser Tt & v = St eraier 9§ IS el ———— STAEROT S €
(iii) @fg =re] oY 1 e dere ¥ fowmn i ¥ @ 9 T geee # ———— va F fovan wn g
(iv) ST0Ed Lb.(iii) # sifera T 1 faee § grafem vafa § § ——— ST

(v) e gr adear =1 Aet Sy R fadka S B ———— e A g
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(c) o Afed say e Frafafes w9 w8 & o e ~ 2x8
(i) afe ge-efadl d smow & = & 1 s el femn g0 @ @ & oy 9 i % o7 | e 7
(ii) =T @t % A P et 96 o FE S
(iii) &9 =l e T e 9e e SAfeaa @ # 2fee fean smom
(iv) T =1 eras @ off 3 e & g 2
(v) Hfad &9 1 qeme F 2fae ge o s €
(vi) ST 1.c.(v) ® aftf g # faes & gt vy F 52 wem 3
(vii) T 9" 19 TR =y g )
(viii) Ga2I Iheg TH =g B |

2. (a) Frefefed gemeti @ 31.12.2008 = T S% GmyH faewo 92 e U 55 Hiom 99 J6 S 7
(i) U 9 F FTER 31.12.2008 I & Afufasd 6,340 o |
(i) 31.12.2008 =1 Sfufeqhd W 6 AIE il AN S S 3 IHGH | T 1HAT 160 Fo |
(iii) ST0a 1Ay & dF =Sl 30 To oA J yraeHs °F <of W H |
(iv) 31.12.2008 e 1,168 %o % <f STl Uleshi # YA & ferg W 7t o |
(v) e 7 S Hew & e 2,170 Fo & I 5 56T F S 31.12.2008 T I T € W
(vi) S 3 fafamt o =t 1,200 Fo Gufed forar i araees F =t o fean

(b) T 19wl @t sifysram 10 =i =ame st 153

(i) =y-TIf @ e faer €1
(i) 3T foaear w Tifvea faeh = enfef feafa <afar 21
(iti) Teafa faawo we fafvem faeft =1 feafy <ufar &)

3. (a) T A THH 2,00,000 THEAT 5 T U 3HE 1 <X H T907 X it ST 912 ST 9 1,00,000 Fo =g gEA |

M A Frefefad =29 ol 4
Rs.
(i) & 5,000
(i) Tiem™ faRrn 4,000
(iii) faemaftn =g 6.000

I 87 3 HIROT 2,000 Sl A # afqr € b

T H 1,00,000 FHEAT 20 Fo UfT 3 it X Y 3= <t 797 39 axferore Tl @ 2,000 T e 6 17w ) fawt
TR 5% FHEA faerar B | srEaR i St e Sifay )
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(b) Fr=ferfaa = § 31.03.2009 i The 9 FF 39 Ht T J4 AT 2
Rs.
g g s iad ged 32,000
gfy 9 w1 R dfem a9 2,000
S| g T S 900
GRS 13,000
TR 5,000
TFATER 12,000
it 55,000
s 9 S 99 7

(c) T gaelt @ emv-w1f @ = Tl S ST SIE T MO R 2
Rs.
(i) 31.03.2009 T TTER 50.000
(i) 01.04.2008 =l oI Y1 & feTg AEeH 4,000
(i) a9 2008-09 ¥ srafeifaa g@a = 1,000
(iv) 98 % a9 § syufarfas gaa ®o § wivi 1,000

(v) ST TE HEgorTH HuI % fore waeH H 5% s @ §
(d) TH H WEAYH 7 FA & FE o HWF TO5d | 2

4. (a) HrET 7 1 FEa=R 2009 F 2,00.000 o AT HWied S o= 71 70 39 W 14 98 F 76y = v fafwa fams
feman ford wireT 3 g =ier o foran | 3 fafy o wiem 3 fas 31 <) oiik wire & o et = wefn = 5|
A 3 39 9d 9T iR fra 76 73 faer § 9% anfds o < § =9 Sirey siewn | 79 T9e st W 9 i)
|
(b) Fr=feriaa yd & ast #t sgfsdl & gur & 9Hc o =e] 9 A G | frset a6 & sifan @n TR S 9% ¢ |
Tl grafedl T E @ S 10% B 4
(i) 5,000 Fo F TH GO Wk Gl T & s = | S o fom
(i) Z ¥ 9 4,000 T F Y00 = ToRt 4 Y F @0 o form fem mn
(i) A %A 63 T 15,000 T % Tl i fosa =@t 4§ forg fean @

(iv) smyfieal (SFer) 1 Frifaa fad w1 500 T & 3% 1 79 @@ § Sfae == G T

(c) 01.04.2008 =i FENT i ST T 7Y i T 2,50,000 Fo T I6H TN Wia 9 WA I 1,05,000 Fo 27|
T 10% e # T F wrd frw Teia § T e g
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01.10.2008 = it 1 T FHA: 15,000 Fo TG 12,000 Te 1 off qen fo= 01.10.2005 i 4 faan 71 o1 5%

gfad 219 & SO WM Q@ @l @7 fear @ E ©E 01.10.2008 g & A w9 20,000 Fe

3T 15,000 To 5 Fa @ it | Foreifia st # | weel § 8,000 To W T A TG A 3,000 Fo TG B H

AW R

31.03.2009 = wom 3¢ % fFr=fafaa sEd: 5
(i) =i @,

(i) w9 fewdster @, aon

(iii) 79 wfaa @9 @l

qm 11
Ty TE Ui Sifar & 9YT 39 WUs ¥ 37 S 2 W A B

5. (a) ProfofEd § @ wd® § u faocy 9d f se F-wW 87 1x10

() T e ) ow e 3 Ty @ # 2fae e s R
A. OH Gl
B. YR Gl
C. e @
D. wY-=If @

(ii) WRedsieT T T S g
A. T FAfyad v9a & fog
B. ufd g
C. wen W fft ot §
D. T fifyvsa wfswar w faiR et 81

(i) fE T: SRR A 300 $HE B, FAH WA F €T 20 THRAT A, A S H o aren g9 5 7 $in
firshem Wi 400 THEAT B A T SSY T B:
A. 300 Al '
B. 200 34
C. 400 3HETl
D. 100 gE4i
(iv) =T Suftert 1 20,000 %o 31 STeERivo &, Sratae B9 992 50,000 6 I9REE! i a0 T 5 F
wia =ver 2 < aafas =g gl
A. 5,00,000 T°
B. 2,30,000 %°
C. 250,000 %°
D. 270,000 %°
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(14)

(v) afe gn-fag fasa 12,000 s, fasra 7o 10 % uft s s a1firemaw fassa 20,000 sF@ & o wifsH
3 AR

A,
B.
C

70,000 ¥°
80,000 %°
60,000 T

D. 50,000 ¥

(vi) T el Forgel et @i 50,000 % 31 & fosa e =1 20% T FA et € | foe e 20 %
W 5 AR aiterdeiier @Td 15 e 9id 3E & 1 fosea &1 W Aol swddt e e

A.

onw

50,000 FeFEAT
60,000 FHEAT
25,000 ST
I § q FE T

(vii) TS W & EOQ i SHIYRUN FI ATGYIHdl &Y Bl o @I 2:

2

D.

Ed Y Tafa
1T &1 ggfa
FIFO

LIFO

(vii) T8 et | gt o T B 79 310 whid @ 9o 1 7 | fem vaft @ aifus emm:

A,

B
(4
D

FIFO

. LIFO

FrEdafas TTd 96

. 3irea TrE i

(ix) VF F AWE H 10 T F ol fow vaft § wurd soferdl 9 afinfea fen o § aw vef d:

A.
B.
C.

D.

iEde T ysha
T AT g
I AT Tgfa

b IE R R G R FeA

(x) afs fafeR 2,70,000 T yfied=wiel TIFR 60% T TR EFTd 1,00,000 T ¥ T9-fawde forg Smm:

A.

B.
c
D.

1,00,000 ®°
2,00,000 ®°
2,20,000 T
2,50,000 ¥
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(b) (i) T gEed | wefls =ve <X 9| e

79 2008-09 T vt Fe oA 306 &

IYeTR] YA HoS 8 wue wfd feq

g—

Fo
T 2,79,600
A 20,000
Tehv2 Hfaet 40,000
TR 1,00,000
w 50,000
AR A A 1,00,000
(i) (A) T d & fo yfym soe 1000

CAT-2(ACT)

2

(B) STeifeh Siede S8 SI=1a T WA & fora wafors wwa 3 wiiee & w9 o foan s a1 sik afz o 39
ﬁﬁﬂgmw%ﬁ@m%mﬁq%maﬁmmﬁmﬂgﬁmm@w

(C) wifa wvar eX Rs. 2/-

(D) WicHTss whiH
] T W % H Elr
10% T TER T T H 10%
11 ¥20% T = T W # 15%
21 §40% TF EE T 9T 20%

(iii) IR TINT TR T et ¥ | S o9 wang ¥?
(iv) T S HHA A FROT A A I W ¥ THGH B @l Ry v entdi?
(v) 3T SRl | BT aTel S SEd @ # @ ol § g YR g w6

(c) RV Wfed sy T Frafafas wom wsr & o smoe:
(i) T 3% | AT I S & B A ery-aty wn § s w
(ii) T S H FH =AW A Ty g weE wa g
(iii) 3 @l H sy F arquf Hd ¥ wftafem T4 S
(iv) Wit 33 Tt SUfieay IcreH Wed ¥ F9 B W 1
(v) S e afgRiier et § i o 7 7

2x5
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6. (a) Ty fafiee fefte sfaw aamdt wd o19d sive 9 @ =t & 1 e it wnfia e 1,20,000 358 wf o6 & 50
for o & wedes wie ¥ e vy Q@ faafia & el 3 o SrEes Y SIS e ST Ty S9eTs S 2

3+3
1 T 20 To UFH T

e 99 12 To Uid 5HE
Yiadeier 3uftea 16 oo ufd sHE
Tt 39 3,00,000 Fo i o
F-vfedeier suftegg e wan 2
(i) 50% FHA T 7,500 Fo WfF HE, 3T
(ii) I FT WA 25% & A1 SHH 13 W AT R T 2,500 T 37T Y | 76 2000 F @ I YE
R | % 50% &9a1 R 3R 51 9% 100% &5 W FR

1 St | 31 e 2009 7 Tt §Td 69 Fo U S Wl T4 | FE 6 SiE T 8T 8.00,000 T B
S9! | TR 2009 | ¥R 31 e 2009 7o 1 Wi gohé foreed o 3 & & 1fes o =1 e e ke
S HF |

T e vx s ol 6 wfa s e v oy Frafafaa safy % fou s e s o3
(A) 1 Sad | 31 SeIE 2009 %, T
(B) 1 31 ¥ 31 femw= 2009 w1

(b) wH-forese favermw & fafim=r 3wdnil = wwemed | eny-wm our # frg TR gaR R s wam E? 242
7. (a) TR ST W M % T 2,80,000 T F wa 31 feram 1 9 2000 F Freaferfiaa gemeit & onur w 3% =

1) FATHT
(i) TrY-7f @ A S 9 G ey 96 i | 6+2
faazor Fo
e Gle 95,000
R F Hegd 75,000
FrEE W e e & @ 25,000
eI = 3,000
T =Y 5,000
I ST T He 90,000
R Fr e T el 600
TR 1 2,00,000
31.12.2009 Tl @< & G4 15,000
JyHIfoT e e 5,000
31.12.2009 FEE T 99 T 1,900
31.12.2009 i 375w TGl 2,500
31.12.2009 1 315 FAE Y 250
JFIET Y WH & 1,90,000

(b) o =€ /an 2 sem g S | 1+1



(17) CAT-2(ACT)

8. (a) o & &= | I WA &1 Yol iR gog W P s ) 941 9% oy it 2

(b) Fr=fafas gumn @ 9@ Fifsw: 1x4
(i) wH o9 =ud 9 snunfia Iufiemd 5 <
(i) TI® |ef= wod I g Iufisgdi it 2
(iii) 3ufi=adl 1 afq srageo)
(iv) SUfeadl H = a9 |

HqL arafas
TIE FHET Rs.  1,10,000 1,20,000
TIY 99 Rs.  2.20.000 2,40.000
IqISH I Rs.  2,20,000 2,10,000
YO 95 e 50,000 60,000
Teae Wt wud 55,000 60,000
(c) A ABC Lud. & FiH1 2,40,000 (farsht i 40%) T &1 W71 191 30 &1 & 9 Hfa: 4

(i) wm-fo=e faa,

(ii) 9,00,000 T = ot T Ty,
(iii) 50,000 %o 7MY F for formt,
(iv) el giad=eier T |



